BEFROEORL - A LICET SHEMEHNERE (52 10)

1 H

2 15

3 A
(1
(2

(3

1=

(EFERE)

SM3HF3H25H (K) 13:30~15:30

i
WE B =i

Sl

=
) B

) W

# W

O SM2EEORTLREEL TV T
@ SO ER G SIZONWT
©® WMEFEE

) M=

4 BER{TEH

BRI -1
BRI —2
EE1— 3
EE1 — 4
EE1—5
B2 —1
EE2 — 2
EE2 — 3

EES A
ZEEE
BEGE 2
SEERE3
BEG R4

D2 THCE SR AR % 2 08 U - RUE A O RAE - 7] LoD

iU S

— RO R

BRIk 5 5 0E L PR AR A £ HE Rk
EEF PR B S EE R
FAST G PR 22 A8 S R ATT SRR 2 [
4% O BRI 225w R ORET (%)
INETOERE RO

RO 7 + 0 —7 » 7 HED RE L ORGEE (%)
Ek3  HEEERHEMREORERI (G343 H)
EE4 KT e Y b TRETER 5

BOFEICHONT (R)
RETFHEEICHAT25B DA TV a— (£ A=V
BESIRHE OB LER (%)
AL BEAR SRR R
BESE D ORFE « 101 FICEES 2 A2 &

A% 24 4F 4 H 5 HAEEFHBORRREIRE)

)

P
I~ %

IZOWT (F



